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Kaxon Math 87 — Homeschool

LESSONS AND INVESTIGATIONS

Problem Solving

e

The perimeter of the rectangle is the same as the
length of the string (2 vands, or 6 fectk
N+ 2w = 6ffi
Since the rectanghe is twice as long as it is wide,
wee can substitule 2w for [ in the perimeler
equatiog, Then we solve for e
HNiw) + 2w i I
dw + 2w ol
e all
W 11
The widdth of the rectangle is | 0t and the length
is 2 Tt W Tl the aren i square feet by

multiplying:
A= X w
A=1I=x 1ft
A= Isq.Ml

LEsson 38, LEsson PrRACTICE

January: 4 = 10D doughnuis
o ] dtnlz.:hl'lulh
February: & = 10,000 doughnuts
= o) (Y dtnlshﬂlllh
(UL ] 1,I|1|,|ghn||l.-.
40000 dowghnwts
20,000 doughnuts

500 cans
00 cans
MK} cans
+ M cans
2600 cans

Test 4

Lisson 38, Mixep PRACTICE

T ecivilians
+ 3 soldiers

100 noeal
soldiers 3

todal i

115 pages
31345 pages
3
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